AuLier

CRANESm

2127 W. Nordale Drive
Appleton, WI 54914
Phone: (920) 380-0397
Fax: (920) 380-0845
miked @allliftcranes.com
sales@allliftcranes.com

PAN

4
BEAM HEIGHT

www.allliftcranes.com HUB
H-Series Heavy Duty Floor
Mounted Jib Crane %2 Ton Capacity /1IN

Capacity Beam Flange Base Unit

(Pounds) | Model | Hub | Span | oiont | width | Diameter | Weight
1,000 H1108* 10’ 8’ 8” 4" 36”* 7804
1,000 H11010* 10’ 10’ 8" 4" 36”* 890#
1,000 H11012* 10’ 12/ 8" 4" 36”* 9404
1,000 H11014 10’ 14’ 8" 4" 36" 1,0854#
1,000 H11016 10’ 16’ 12" 6 %" 36" 1,490#
1,000 H11018 10’ 18’ 12" 6 1" 36" 1,530#
1,000 H11020 10’ 20° 12" 6 %" 36" 1,850#
1,000 H1128* 12’ 8’ 8” 4" 36”* 8254
1,000 H11210* 12’ 10’ 8" 4" 36”* 8854
1,000 H11212* 12’ 12’ 8" 4" 36”* 9204
1,000 H11214 12/ 14’ 8” 4" 36" 1,150#
1,000 H11216 12’ 16’ 12" 6 1" 36" 1,6054#
1,000 H11218 12’ 18’ 12" 6 %" 36" 1,690#
1,000 H11220 12’ 20’ 12" 6 1" 36" 2,075#
1,000 H1148* 14’ 8’ 8" 4" 36”* 8554
1,000 H11410* 14’ 10’ 8" 4" 36”* 9404
1,000 H11412* 14’ 12’ 8” 4" 36”* 9704
1,000 H11414 14’ 14’ 8" 4" 36" 1,380#
1,000 H11416 14’ 16’ 12" 61" 36" 1,650#
1,000 H11418 14’ 18’ 12" 6 %" 36" 1,790#
1,000 H11420 14’ 20° 12" 61" 36" 2,080#

Effective 7/16
NOTE:

Contact sales for HUBs greater than 14ft. and spans longer than 20 ft.

e Units with (*) require 3' deep x 4' square foundations. All others require 3’ deep x 5’ square concrete

foundations with rebar.

e 3,000 psi of compressive force-reinforced rebar 3/4” diameter top and bottom 12” on center..
e All units have 36” BD and 32” BC 12 holes 1-1/4” diameter.
e All foundations should be checked by a structural engineer.

Options:

Tagline Kits

Outdoor Applications & Stainless Steel

Hoists & Trolleys

—-1/4" HOLES

2* BOLT
CIRCLE

36" DIA



2127 W. Nordale Drive I

SPAN

Appleton, WI 54914
Phone: (920) 380-0397

AuLier

d
BEAM HEIGHT

Fax: (920) 380-0845 \
CRAN Es ; miked @allliftcranes.com
& sales@allliftcranes.com \_
www.allliftcranes.com HUB
H-Series Heavy Duty Floor
Mounted Jib Crane 1 Ton Capacity /N
Capacity Beam Flange Base Unit
(Pounds) | Model | Hub | Span | iht | Width | Diameter | Weight
2,000 H2108* 10 8 8” 4” 36”* 920#
2,000 H21010* 10 10 8” 4” 36”* 960#
2,000 H21012** 10 12’ 12" 6 %" 36"7** 1,420#
2,000 H21014** 10’ 14 12" 6 " 36" ** 1,515#
2,000 H21016 10 16’ 12" 6 %" 36" 1,630#
2,000 H21018 10’ 18’ 16" 7" 48" 2,140#
2,000 H21020 10 20’ 16" 7" 48" 2,235#
2,000 H2128* 12’ 8’ 8” 4" 36"* 980#
2,000 H21210* 12’ 10 8” 4" 36"* 1,060#
2,000 H21212** 12’ 12’ 12" 6 " 36"** 1,455#
2,000 H21214%** 12’ 14’ 12" 6 %" 36"7** 1,670#
2,000 H21216 12’ 16’ 12” 6 " 36" 1,785#
2,000 H21218 12’ 18’ 16" 7" 48" 2,305#
2,000 H21220 12’ 20 16" 7" 48" 2,445#
2,000 H2148* 14’ 8’ 8” 4" 36" * 1,035#
2,000 H21410* 14’ 10’ 8” 4" 36”* 1,446#
2,000 H21412%** 14’ 12’ 12" 6 %" 36"7** 1,560#
2,000 H21414** 14’ 14’ 12” 6 %" 36"** 1,770#
2,000 H21416 14’ 16’ 12" 6 %" 36" 1,850#
2,000 H21418 14’ 18’ 16” 7" 48" 2,4454
2,000 H21420 14’ 20’ 16" 7" 48" 2,560#
:lf;e.;:'ve 7/16  Contact sales for HUBs greater than 14ft. and spans longer than 20 ft. ~1/4* HOLES

e Units with 36” diameter base plates with (*) have 4' deep x 5' square foundations,
(**) have 4’ deep x 6 ft square foundations and all others have 4’ deep by 7’ square
concrete foundations.

e Units with 48” diameter base plates have 4’ deep by 8’ square concrete foundations.
3,000 psi of compressive force-reinforced rebar 3/4” diameter top and bottom 12” on

center..

e Base plate dimension: 36” diameter base x 32" bolt circle quantity 12 holes 1-1/4”
diameter.

e Base plate dimension: 48” diameter base x 44” bolt circle quantity 12 holes 1-1/4”
diameter.

e All foundations should be checked by a structural engineer.
Options: Tagline Kits

Outdoor Applications & Stainless Steel

Motorized Rotation and Hoists & Trolleys

2" BOLT
CIRCLE

36" DIA

-1/4* HOLES

44" BOLT
CIRCLE

48° DIA



H-Series Heavy Duty Floor

SPAN
2127 W. Nordale Drive I

Appleton, Wi 54914 u:f
| Phone: (920) 380-0397 BEAM HEIGHT
Fax: (920) 380-0845 \
CRANES ; miked@allliftcranes.com
& sales@allliftcranes.com \_

www.allliftcranes.com HUB

Mounted Jib Crane 2 Ton Capacity /LN
Gty | wouer | v | spn | o | e | o |
4,000 H4108 10’ 8’ 12” 6 " 36" 1,350#
4,000 H41010 10 10 12" 6 %" 36" 1,440#
4,000 H41012* 10’ 12’ 16" 7" 48"* 1,940#
4,000 H41014* 10’ 14’ 16" 7" 48"* 2,040#
4,000 H41016 10 16’ 21" 6 %" 48" 2,620#
4,000 H41018 10’ 18’ 24" 7" 48” 3,335#
4,000 H41020 10 20’ 24" 7" 48" 3,475#
4,000 H4128 12’ 8’ 12" 6 %" 36" 1,440#
4,000 H41210 12’ 10 12" 6 %" 36" 1,535#
4,000 H41212* 12’ 12’ 16" 7" 48"* 2,110#
4,000 HA41214% 12’ 14’ 16" 7" 48"* 2,190#
4,000 H41216 12’ 16’ 21" 6 %" 48" 2,750#
4,000 H41218 12’ 18’ 24" 7" 48" 3,430#
4,000 H41220 12’ 20’ 24" 7" 48" 3,570#
4,000 H4148 14’ 8’ 12" 6 %" 36" 1,550#
4,000 H41410 14’ 10’ 12” 6 " 36" 1,665#
4,000 H41412* 14 12’ 16" 7" 48"* 2,235#
4,000 H41414* 14’ 14’ 16" 7" 48"* 2,315#
4,000 H41416 14 16’ 21" 6-1/2" 48" 2,930#
4,000 H41418 14’ 18’ 24" 7" 48" 3,590#
4,000 H41420 14 20’ 24" 7" 48" 4,310#

Effective 7/16  Contact sales for HUBs greater than 14ft. and spans longer than 20 ft.
NOTE:

Options: Tagline Kits

-1/4* HOLES

Units with 36” diameter base plates have 4’ deep by 6" square concrete foundations.

Units with 48” diameter base plates that with (*) have 4’ deep x 7’ square
foundations. All others have 4’ deep by 8’ square concrete foundations.

3,000 psi of compressive force-reinforced rebar 3/4” diameter top and bottom 12” on
center..

Base plate dimension: 36” diameter base x 32” bolt circle quantity 12 holes 1-1/4”
diameter.

Base plate dimension: 48” diameter base x 44” bolt circle quantity 12 holes 1-1/4”
diameter.

All foundations should be checked by a structural engineer.

2* BOLT
CIRCLE

36" DIA

-1/4* HOLES

44" BOLT
CIRCLE

Outdoor Applications & Stainless Steel
Motorized Rotation and Hoists & Trolleys



H-Series Heavy Duty Floor

2127 W. Nordale Drive
Appleton, Wi 54914 u:f

| Phone: (920) 380-0397 BEAM HEIGHT
g Fax: (920) 380-0845 \
CRANES ; miked@allliftcranes.com
| & sales@allliftcranes.com \_

www.allliftcranes.com HUB

Mounted Jib Crane 3 Ton Capacity /N
Gty | wose | v | span | Soam [ e | pwe 7T it
6,000 H6108* 10 8’ 16" 7" 48" 1,850#
6,000 H61010* 10’ 10’ 16” 7" 48"* 1,930#
6,000 H61012* 10 12’ 16" 7" 48"* 2,690#
6,000 H61014 10’ 14’ 21" 6 " 48" 3,065#
6,000 H61016 10 16’ 24" 7" 48" 3,775#
6,000 H61018 10’ 18’ 24" 9” 54" 4,430#
6,000 H61020 10 20’ 24" 9” 54" 4,960#
6,000 H6128* 12’ 8’ 16” 7” 48"* 1,940#
6,000 H61210* 12’ 10 16" 7" 48"* 2,030#
6,000 H61212* 12’ 12’ 16" 7" 48"* 2,850#
6,000 H61214 12’ 14’ 21" 6 %" 48" 3,230#
6,000 H61216 12’ 16’ 24" 7" 48" 3,970#
6,000 H61218 12’ 18’ 24" 9” 54" 4,630#
6,000 H61220 12’ 20 24" 9” 54" 5,235#
6,000 H6148* 14’ 8’ 16" 7" 48"* 2,080#
6,000 H61410* 14’ 10 16" 7" 48"* 2,155#
6,000 H61412%* 14’ 12’ 16" 7" 48" 2,970#
6,000 H61414 14’ 14’ 21" 6 " 48" 3,350#
6,000 H61416 14’ 16’ 24" 7" 48" 4,160#
6,000 H61418 14’ 18’ 24" 9” 54" 4,770#
6,000 H61420 14’ 20’ 24" 9” 54" 5,485#

Effective 7/16  Contact sales for HUBs greater than 14ft. and spans longer than 20 ft.
NOTE:

-1/4* HOLES

Units with 48” diameter base plates that with (*) have 4’ deep x 7’ square
foundations and all others have 4’ deep by 8’ square concrete foundations.

Units with 54” diameter base plates have 4’ deep by 9’ square concrete foundations.

3,000 psi of compressive force-reinforced rebar 3/4” diameter top and bottom 12” on
center..

Base plate dimension: 48” diameter base x 44” bolt circle quantity 12 holes 1-1/4”
diameter.

Base plate dimension: 54” diameter base x 50” bolt circle quantity 12 holes 1-1/4”
diameter

44" BOLT
CIRCLE

48° DIA

-1/4" HOLES

e All foundations should be checked by a structural engineer. C?;‘CEELT
Options: Tagline Kits 54* DIA

Outdoor Applications & Stainless Steel
Motorized Rotation and Hoists & Trolleys




AuLier

CRANESm

2127 W. Nordale Drive
Appleton, WI 54914
Phone: (920) 380-0397
Fax: (920) 380-0845
miked @allliftcranes.com
sales@allliftcranes.com

SPAN

d
BEAM HEIGHT

www.allliftcranes.com HUB
H-Series Heavy Duty Floor
Mounted Jib Crane 5 Ton Capacity /LN
Gooxey [ oot | v | span | goem | e [ seee T e
10,000 H10108 10’ 8’ 21" 8 " 60” 3,820#
10,000 H101010 10’ 10’ 21" 8 " 60” 3,975#
10,000 H101012 10’ 12’ 21" 8" 66" 4,645#
10,000 H101014 10’ 14 24" 9” 66" 4,990#
10,000 H101016 10’ 16’ 24" 9” 66" 5,150#
10,000 H101018 10’ 18’ 24" 9” 72" 6,100#
10,000 H101020 10’ 20’ 24" 9” 72" 6,9404#
10,000 H10128 12’ 8’ 21" 8 " 60” 4,050#
10,000 H101210 12’ 10’ 21" 8" 60” 4,190#
10,000 H101212 12’ 12’ 21" 8 " 66" 4,850#
10,000 H101214 12’ 14 24" 9” 66" 5,230#
10,000 H101216 12’ 16’ 24" 9’ 66" 5,390#
10,000 H101218 12’ 18’ 24" 9” 72" 6,4204#
10,000 H101220 12’ 20’ 24" 9” 72" 7,220#
10,000 H10148 14 8’ 21" 8% 60” 4,470#
10,000 H101410 14 10’ 21" 8 " 60” 4,620#
10,000 H101412 14 12’ 21" 8" 66" 5,4904#
10,000 H101414 14 14 24" 9” 66" 5,950#
10,000 H101416 14 16’ 24" 9” 66" 6,185#
10,000 H101418 14 18’ 24" 9” 72" 6,720#
10,000 H101420 14 20’ 24" 9” 72" 7,4354#
Effective 7/16 ~ Contact sales for HUBs greater than 14ft. and spans longer than 20 ft. ~174" HOLES
NOTE: 6 BOLT

e Units with 60” & 66” diameter base plates have 4’ deep by 9’ square concrete

foundations.

e Units with 72” diameter base plates have 4’ deep by 10’ square concrete foundations.
e 3,000 psi of compressive force-reinforced rebar 3/4” diameter top and bottom 12” on

center..

e Base plate dimension: 60” diameter base x 56” bolt circle quantity 12 holes 1-1/4”

diameter

e Base plate dimension: 66” diameter base x 60” bolt circle quantity 12 holes 1-1/4”

diameter.

e Base plate dimension: 72” diameter base x 66” bolt circle quantity 12 holes 1-1/4”

diameter.
Options: Tagline Kits

Outdoor Applications & Stainless Steel

Motorized Rotation and Hoists & Trolleys

CIRCLE
60“ DIA

-1/4" HOLES

60" BOLT
CIRCLE

66" DIA

66" BOLT
CIRCLE

72" DIA



. 2127 W. Nordale Drive L_,p_
Appleton, WI 54914 '
A L Phone: (920) 380-0397
LL IFT Fax: (920) 380-0845
CRANES$ miked@allliftcranes.com

sales@allliftcranes.com q
www.allliftcranes.com

Jib Crane Accessories for H-Series Units

Anchor Bolt Kits

TA1-31-12 T-Style 1” Diameter Bolt 31” long
TA1-40-12 T-Style 1” Diameter Bolt 40” long
Each bolt includes one washer and two nuts.

Bolt Pattern Template

36D12 to 48D12 Plywood Template
54D12 to 72D12 Plywood Template
36D12 Paper Template

Paper templates larger than 36D12 are NOT available.

Rotation Stops — Field Mounted

Festooning

Tag Line Kit and S Hooks
Adder-Cable Trolley (each)
Flat Cable

Collector Rings

TEC — Top Entry Collector Ring and Mounting Plate
BEC — Bottom Entry Collector Ring

BEC requires 12” beam and above, prep of crane included.

10



- SP AN

. 2127 W. Nordale Drive d
4 Appleton, WI 54914 BEAM HEIGHT-
,ALL LI FT Phone: (920) 380-0397
Fax: (920) 380-0845
CRAN Es& miked@all!iftcranes.com
sales@allliftcranes.com HUB
www.allliftcranes.com
FL-Series Foundationless Floor Mounted il
Jib Crane 1/8 Ton Capacity L
Sopacty | woder | b | span | Boam | Range | Base | it
250 FL2586 8’ 6’ 6” 3-3/8” 26" 375#
250 FL2588 8’ 8’ 6” 3-3/8” 26" 405#
250 FL25810 8’ 10 6” 3-3/8” 26" 425#
250 FL25812 8’ 12’ 6” 3-3/8” 26" 565#
250 FL25814 8’ 14 8" 4" 26" 690#
250 FL25106 10’ 6’ 6” 3-3/8” 26" 410#
250 FL25108 10 8’ 6” 3-3/8” 26" 440#
250 FL251010 10’ 10’ 6” 3-3/8” 26" 455#
250 FL251012 10 12’ 6” 3-3/8” 26" 620#
250 FL251014 10’ 14’ 8" 4" 26" 730#
250 FL25126 12’ 6’ 6” 3-3/8” 26" 460#
250 FL25128 12’ 8’ 6” 3-3/8” 26" 475#
250 FL251210 12’ 10 6” 3-3/8” 26" 495#
250 FL251212 12’ 12’ 6” 3-3/8” 26" 665#
250 FL251214 12’ 14 8" 4" 26" 780#
Effective 2/16
NOTE:
e  Existing concrete must be a minimum of 6” thick reinforced with a minimum 3,000 psi
(5 bag mix), soil pressure must support 2,500 psi.
e Concrete in and around the area (6’ x 6’) of the base plate must be free of cracks and
must appear in good condition.
e All units have 26” diameter base and 22” bolt circle 6 holes 1-1/4” diameter. -1/4" HOLES

e All foundations should be checked by a structural engineer.

Options: Tagline Kits

Epoxy Anchor Kits

Rotation Stops

Bolt Pattern Templates

Outdoor Applications & Stainless Steel

Hoists & Trolleys

11

2" BOLT

CIRCLE

6“ DIA



f SPAN i
2127 W. Nordale Drive d

Appleton, WI 54914 BEAM HEIGHT-
| Phone: (920) 380-0397
ALL LIFT Fax: (920) 380-0845
CRANES ; miked@allliftcranes.com
& sales@allliftcranes.com u] JB

H{

www.allliftcranes.com

FL-Series Foundationless Floor Mounted / | \
Jib Crane 1/4 Ton Capacity s S ..m: &
Gapectd | wocer | mub | span | Seam | vt | Bae | o
500 FL586 8’ 6’ 6” 3-3/8” 28" 390#
500 FL588 8’ g’ 6” 3-3/8” 28" 420#
500 FL5810 8’ 10’ 6” 3-3/8” 28" 4404
500 FL5812 8’ 12’ 6” 3-3/8” 28" 580#
500 FL5814 8’ 14’ 8” 4” 28" 705#
500 FL5106 10’ 6’ 6” 3-3/8” 28" 425#
500 FL5108 10’ g8’ 6” 3-3/8” 28" 4554
500 FL51010 10’ 10’ 6” 3-3/8” 28" 470#
500 FL51012 10’ 12’ 6” 3-3/8” 28" 635#
500 FL51014 10’ 14’ 8” 4” 28" 745#
500 FL5126 12’ 6’ 6” 3-3/8” 28" 4754
500 FL5128 12’ g8’ 6” 3-3/8” 28" 490#
500 FL51210 12’ 10’ 6” 3-3/8” 28" 510#
500 FL51212 12’ 12’ 6” 3-3/8” 28" 680#
500 FL51214 12’ 14’ 8” 4” 28" 795#

Effective 2/16

NOTE:

Existing concrete must be a minimum of 6” thick reinforced with a minimum 3,000 psi
(5 bag mix), soil pressure must support 2,500 psi.

Concrete in and around the area (6’ x 6") of the base plate must be free of cracks and

must appear in good condition. 1-1/74” holes
e All units have 28” diameter base and 24” bolt circle 8 holes 1-1/4” diameter.
e All foundations should be checked by a structural engineer. P47
BOLT
Options: Tagline Kits CIRCLE
Epoxy Anchor Kits
Rotation Stops 287 DIA

Bolt Pattern Templates
Outdoor Applications & Stainless Steel
Hoists & Trolleys

12



AuLier

CRANESm

2127 W. Nordale Drive
Appleton, WI 54914
Phone: (920) 380-0397
Fax: (920) 380-0845
miked @allliftcranes.com

S PAN————{

P!

BEAM HEIGHT:

sales@allliftcranes.com u] HUB
www.allliftcranes.com
FL-Series Foundationless Floor Mounted IN
Jib Crane 1/2 Ton Capacity § WiN 63
Saracty | woder | ub [ span | Beam | Flange | pase [ um
1000 FL186 8’ 6’ 6” 3-3/8” 30" 490#
1000 FL188 8’ 8’ 6” 3-3/8” 30" 545#
1000 FL1810 8’ 10 8" 4" 30" 760#
1000 FL1812 8’ 12’ 8" 4" 30" 875#
1000 FL1106 10 6’ 6” 3-3/8” 30" 570#
1000 FL1108 10’ 8’ 6” 3-3/8” 30" 595#
1000 FL11010 10 10 8" 4" 30" 850#
1000 FL11012 10’ 12 8" 4" 30" 920#
1000 FL1126 12’ 6’ 6” 3-3/8” 30" 580#
1000 FL1128 12’ 8’ 6” 3-3/8” 30" 620#
1000 FL11210 12’ 10 8" 4" 30" 870#
1000 FL11212 12’ 12’ 8" 4" 30" 950#
Effective 2/16
NOTE:

e  Existing concrete must be a minimum of 6” thick reinforced with a minimum 3,000 psi
(5 bag mix), soil pressure must support 2,500 psi.

e Concrete in and around the area (6’ x 6") of the base plate must be free of cracks and
must appear in good condition.

e All units have 30” diameter base and 26” bolt circle 12 holes 1-1/4” diameter.

e All foundations should be checked by a structural engineer.

Options: Tagline Kits

Epoxy Anchor Kits

Rotation Stops

Bolt Pattern Templates

Outdoor Applications & Stainless Steel

Hoists & Trolleys

13

-1/4* HOLES

6 BOLT
CIRCLE

30“ DIA



2127 W. Nordale Drive

SPAN——l

4 Appleton, WI 54914 - L
J Phone: (920) 380-0397
Fax: (920) 380-0845
CRAN Es : miked@allliftcranes.com HUB
& sales@allliftcranes.com ,1|
www.allliftcranes.com
FL-WS Series Foundationless Floor Mountedn/ | \
Workstation Jib Crane 1/8 Ton Capacity oy
1 []
Capacity Beam Base . .
(Pounds) Model Hub Span Height Diameter Unit Weight
250 FL2586-WS 8’ 6’ 6” 26" 418#
250 FL2588-WS 8’ 8’ 6” 26" 462#
250 FL25810-WS 8’ 10’ 6” 26" 496#
250 FL25812-WS 8’ 12’ 6” 26" 650#
250 FL25106-WS 10’ 6’ 6” 26" 453#
250 FL25108-WS 10 8’ 6” 26" 497#
250 FL251010-WS 10 10 6” 26" 525#
250 FL251012-WS 10 12’ 6” 26" 705#
250 FL25126-WS 12’ 6’ 6” 26" 503#
250 FL25128-WS 12’ 8’ 6” 26" 532#
250 FL251210-WS 12’ 10’ 6” 26" 566#
250 FL251212-WS 12’ 12’ 6” 26" 750#
Effective 2/16 Price includes enclosed track and trolley.
NOTE:
e  Existing concrete must be a minimum of 6” thick reinforced with a minimum 3,000 psi
(5 bag mix), soil pressure must support 2,500 psi.
e Concrete in and around the area (6" x 6’) of the base plate must be free of cracks and
must appear in good condition.
e All units have 26” diameter base and 22” bolt circle 6 holes 1-1/4” diameter. -1/4" HOLES
All foundations should be checked by a structural engineer.
2" BOLT
Options: Tagline Kits CIRCLE
Epoxy Anchor Kits
Rotation Stops
6” DIA

Bolt Pattern Templates

Hoists & Trolleys

14




2127 W. Nordale Drive

SPAN—-l

4 Appleton, WI 54914 = -
| ALL LI FT Phone: (920)380-0397
Fax: (920) 380-0845
CRAN Es& miked@all!iftcranes.com ! HL
sales@allliftcranes.com u|
www.allliftcranes.com
FL-WS Series Foundationless Floor Mounted/ | \
Workstation Jib Crane 1/4 Ton Capacity ' T3
1 ]

(CI::,aozanc&tsy) Model Hub Span I-?eeizrltn]t DiE;sei er Unit Weight

500 FL586-WS 8’ 6’ 6” 28" 433#

500 FL588-WS 8’ 8’ 6” 28" 477#

500 FL5810-WS 8’ 10 6” 28" 511#

500 FL5812-WS 8’ 12’ 6” 28" 665#

500 FL5106-WS 10 6’ 6” 28" 468#

500 FL5108-WS 10’ 8’ 6” 28" 512#

500 FL51010-WS 10’ 10’ 6” 28" 541#

500 FL51012-WS 10’ 12’ 6” 28" 720#

500 FL5126-WS 12’ 6’ 6” 28" 518#

500 FL5128-WS 12’ 8’ 6” 28" 547#

500 FL51210-WS 12’ 10 6” 28" 581#

500 FL51212-WS 12’ 12’ 6” 28" 765#
Effective 2/16 Price includes enclosed track and trolley.
NOTE:
e  Existing concrete must be a minimum of 6” thick reinforced with a minimum 3,000 psi

(5 bag mix), soil pressure must support 2,500 psi.
e Concrete in and around the area (6’ x 6") of the base plate must be free of cracks and

must appear in good condition. 1-1/4" holes
e All units have 28” diameter base and 24” bolt circle 8 holes 1-1/4” diameter.
e All foundations should be checked by a structural engineer. D4

. o BOLT
Options: Tagline Kits CIRCLE
Epoxy Anchor Kits
Rotation Stops 287 DIA

Bolt Pattern Templates

Hoists & Trolleys

15




2127 W. Nordale Drive

5PAN———————————1

4 Appleton, WI 54914 = "o
| ALL LI FT Phone: (920)380-0397
Fax: (920) 380-0845
CRAN Es& miked@all!iftcranes.com ! HL
sales@allliftcranes.com 1
www.allliftcranes.com
FL-WS Series Foundationless Floor Mounted \
Workstation Jib Crane 1/2 Ton Capacity —!f T3
T L]
&Z%ancétsy) Model Hub | Span Eﬁgﬂt Diometer Wl‘j;i]gltht
1000 FL186-WS 8’ 6’ 6” 30" 533#
1000 FL188-WS 8’ 8’ 6” 30" 602#
1000 FL1810-WS 8’ 10 8" 30" 806#
1000 FL1812-WS 8’ 12’ 8" 30" 931#
1000 FL1106-WS 10 6’ 6" 30" 6134#
1000 FL1108-WS 10’ 8’ 6” 30" 652#
1000 FL11010-WS 10’ 10’ 8" 30" 896#
1000 FL11012-WS 10’ 12’ 8" 30" 976#
1000 FL1126-WS 12’ 6’ 6" 30" 6234#
1000 FL1128-WS 12’ 8’ 6” 30" 677#
1000 FL11210-WS 12’ 10’ 8" 30" 916#
1000 FL11212-WS 12’ 12’ 8" 30" 1006#
Effective 2/16 Price includes enclosed track and trolley.
NOTE:
e  Existing concrete must be a minimum of 6” thick reinforced with a minimum 3,000 psi
(5 bag mix), soil pressure must support 2,500 psi.
e Concrete in and around the area (6’ x 6") of the base plate must be free of cracks and
must appear in good condition.
All units have 30” diameter base and 26” bolt circle 12 holes 1-1/4” diameter. -174* HOLES
All foundations should be checked by a structural engineer.
67 BOLT
Options: Tagline Kits CIRCLE
Epoxy Anchor Kits
Rotation Stops 30* DIA

Bolt Pattern Templates

Hoists & Trolleys

16




| SPAN
. 2127 W. Nordale Drive | - : —
P Appleton, WI 54914 ’ B
| ALL LI FT Phone: (920)380-0397
i Fax: (920) 380-0845
E miked@allliftcranes.com P
CRANES$ sales@allliftcranes.com HUB
www.allliftcranes.com
. . e A
FL-AR Series Foundationless Floor Mounted msT " m &
Semi-Articulating Jib Crane 1/8 & 1/4 Ton Capacity
Capacit B Beam Base Unit
(Poltmdg) WModel Hub | Span Dimension | Height | Diameter | Weight
250 FL2586-AR 8’ 6’ 2'6" 6” 26" 375#
250 FL2588-AR 8’ 8’ 3'0" 6” 26" 405#
250 FL25810-AR 8’ 10’ 4'0" 6” 26" 425#
250 FL25106-AR 10 6’ 2'6" 6” 26" 410#
250 FL25108-AR 10’ 8’ 3'0" 6” 26" 440#
250 FL251010-AR 10 10 4'Q" 6” 26" 4554
250 FL25126-AR 12’ 6’ 2'6" 6” 26" 460#
250 FL25128-AR 12’ 8’ 3'0" 6” 26" 475#
250 FL251210-AR 12’ 10 4'Q" 6" 26" 495#
500 FL586-AR 8’ 6’ 2'6" 6” 28" 390#
500 FL588-AR 8’ 8’ 3'0" 6” 28" 4204
500 FL5106-AR 10 6’ 2'6" 6” 28" 4254#
500 FL5108-AR 10’ 8’ 3'0" 6” 28" 455#
500 FL5126-AR 12’ 6’ 2'6" 6” 28" 475#
500 FL5128-AR 12’ 8’ 3'0" 6” 28" 490#
Effective 4/17 Contact All Lift Cranes Sales for other sizes and capacities -1/4" holes
NOTE:
e  Existing concrete must be a minimum of 6” thick reinforced with a minimum 3,000 psi e’ BOLT
(5 bag mix), soil pressure must support 2,500 psi. CIRCLE
e Concrete in and around the area (6’ x 6") of the base plate must be free of cracks and
must appear in good condition. & DIA

e All units have 26” diameter base and 22” bolt circle 6 holes 1-1/4” diameter.
e All units have 28” diameter base and 24” bolt circle 8 holes 1-1/4” diameter. 1-1/4" holes
e All foundations should be checked by a structural engineer.

Accessories: WSTG Tagline Kits 24
BOLT

CIRCLE

Portable Base:
250 Ibs. models “D” = 6” Weight: 3,038 Ibs.
500 Ibs. models “D” =7” Weight: 3,690 Ibs.

I . 8" DIA
NOTE: Portable base MUST be ordered with jib crane at time of order.
I N
]:] 4| I I I Options: Epoxy Anchor Kits Rotation Stops
| e | Bolt Pattern Templates Hoists
”
e
48"

4 in x 8 in fork pockets

17



g 2127 W. Nordale Drive i ¢
Appleton, Wi 54914 ™
| A L Phone: (920) 380-0397
LL IFT Fax: (920) 380-0845
CRANES ; miked@allliftcranes.com -
& sales@allliftcranes.com '

www.allliftcranes.com

Al

Jib Crane Accessories for Foundationless Series Units
(FL, FL-WS & FL-AR)

Epoxy Anchor Bolt Kits
AB-FL25 Anchor Bolt Kit - 6 Hole
AB-FL5 Anchor Bolt Kit - 8 Hole
AB-FL1 Anchor Bolt Kit - 12 Hole
ALC-AP Applicator Gun for epoxy
Each 8 inch stud includes one washer and two nuts.
6 hole kit includes 1 tube epoxy. 8 & 12 hole kit includes 2 tubes epoxy

Bolt Pattern Template
26D6 FL25 Plywood Template
28D8 FL5 Plywood Template
30D12 FL1 Plywood Template

Rotation Stops — Field Mounted

Festooning
TG Tag Line Kit with S Hooks
WSTG Workstation Tag Line Kit with S Hooks
Adder- Steel Cable Trolley (each)
Flat Cable

18



2127 W. Nordale Drive

SPAN

|
Appleton, Wi 54914 gl
FALL LI FT Phone: (920) 380-0397 EEAM HEIGH |
Fax: (920) 380-0845
CRANES$ miked@all!iftcranes.com
sales@allliftcranes.com
www.allliftcranes.com u)
HUE
L-Series Light Duty Floor Mounted
Jib Crane 1/4 Ton Capacity / | \
(Pounds) | Model | Hub | span | SEE | LEAR® | piameter | Weight
500 L586* 8’ 6’ 6” 3-3/8” 26"* 375#
500 L588* 8’ 8’ 6” 3-3/8” 26"* 395#
500 L5810* 8’ 10 6” 3-3/8” 26"* 415#
500 L5812* 8’ 12’ 6” 3-3/8” 26"* 570#
500 L5814 8’ 14 8" 4" 26" 685#
500 L5816 8’ 16’ 8” 4" 26" 721#
500 L5106* 10 6’ 6” 3-3/8” 26"* 415#
500 L5108* 10’ 8’ 6” 3-3/8” 26"* 430#
500 L51010% 10’ 10 6” 3-3/8” 26"* 450#
500 L51012* 10’ 12’ 6” 3-3/8” 26"* 615#
500 L51014 10 14’ 8” 4" 26" 725#
500 L51016 10’ 16’ 8” 4" 26" 762#
500 L5126* 12’ 6’ 6” 3-3/8” 26"* 450#
500 L5128* 12’ 8’ 6” 3-3/8” 26"* 471#
500 L51210% 12’ 10 6” 3-3/8” 26"* 490#
500 L51212* 12’ 12’ 6” 3-3/8” 26"* 659#
500 L51214 12’ 14’ 8” 4" 26" 770#
500 L51216 12’ 16’ 8” 4" 26" 807#
Effective 11/15
NOTE:
e Units with (*) require 3’ deep x 4’ square foundations. All others require 3’ deep by 5’ square
concrete foundations with rebar.
e 3,000 psi of compressive force-reinforced rebar 5/8” diameter top and bottom 12” on center
All units have 26” diameter base and 22” bolt circle 6 holes 1-1/4” diameter. .
e All foundations should be checked by a structural engineer. ! -1/4" HOLES
Options: Tagline kits 27 BOLT
Anchor Bolt Kits CIRCLE
Bolt Pattern Template
Rotation Stops 6* DIA

Top Entry Collector Rings

Outdoor Applications & Stainless Steel

Hoists & Trolleys

19




2127 W. Nordale Drive

SPAN

|
Appleton, Wi 54914 gl
ALL LI FT Phone: (920) 380-0397 BEAM HEIGHT
Fax: (920) 380-0845
miked @allliftcranes.com
‘ CRAN Es& sales@allliftcranes.com
e —————— www.allliftcranes.com u)
HUE
L-Series Light Duty Floor Mounted
Jib Crane 1/2 Ton Capacity \
pal N
(Pounds) | Model | Hub | span | SO0 | LEAR® | piameter | Weight
1000 L186* 8’ 6’ 6” 3-3/8” 26"* 480#
1000 L188* 8’ 8’ 6" 3-3/8” 26"* 510#
1000 L1810* 8’ 10’ 8” 4" 26"* 730#
1000 L1812%* 8’ 12’ 8” 4" 26"* 805#
1000 L1814 8’ 14’ 8” 4" 26" 870#
1000 L1106* 10 6’ 6” 3-3/8” 26"* 530#
1000 L1108* 10’ 8’ 6” 3-3/8" 26"* 565#
1000 L11010%* 10’ 10 8” 4" 26"* 820#
1000 L11012* 10’ 12’ 8” 4" 26"* 840#
1000 L11014 10’ 14’ 8” 4" 26" 915#
1000 L1126* 12’ 6’ 6” 3-3/8" 26"* 570#
1000 L1128* 12’ 8’ 6” 3-3/8” 26"* 590#
1000 L11210* 12’ 10’ 8” 4" 26"* 855#
1000 L11212* 12’ 12’ 8” 4" 26"* 890#
1000 L11214 12’ 14’ 8” 4" 26" 970#
Effective 11/15
NOTE:
e Units with (*) require 3’ deep x 4’ square foundations. All others require 3’ deep by 5’ square
concrete foundations with rebar.
e 3,000 psi of compressive force-reinforced rebar 5/8” diameter top and bottom 12” on center
e All units have 26” diameter base and 22” bolt circle 6 holes 1-1/4” diameter. -1/4" HOLES
e All foundations should be checked by a structural engineer.
Options: Tagline kits 2° BOLT
Anchor Bolt Kits CIRCLE
Bolt Pattern Template
Rotation Stops 6* DIA

Top Entry Collector Rings
Outdoor Applications & Stainless Steel
Hoists & Trolleys

20




. 2127 W. Nordale Drive
Appleton, WI 54914
,A L Phone: (920) 380-0397
LL IFT Fax: (920) 380-0845
CRANES& miked@allliftcranes.com 1
sales@allliftcranes.com

www.allliftcranes.com

A

Jib Crane Accessories for L-Series Units

Anchor Bolt Kits
TA1-31-6 T-Style 1" Diameter Bolt 31" Long
Each bolt includes one washer and two nuts.

Bolt Pattern Template

26D6 Plywood Template
26D6 Paper Template

Rotation Stops - Field Mounted

Festooning
TG Tag Line Kit with S Hooks
Cable Trolleys - Steel - ADD (each)
Flat Wire

Collector Rings
TEC Top Entry Collector Ring and Mounting Plate
Includes crane preparation

Effective 7/16

21



5 2127 W. Nordale Drive [ o = 4
Appleton, WI 54914 — =
j Phone: (920) 380-0397 ™
ALL LIFT Fax: (920)380-0845 .
CRANES£ miked@allliftcranes.com 1
sales@allliftcranes.com

www.allliftcranes.com &
\%

Floor Mounted Installation Instructions

1. The crane is shipped in three sections: Boom assembly, head section, and column
assembly. A hardware box with the bearing and mounting hardware is included.

2. The foundation shown on the standard product catalog sheets or drawing approval is the
only foundation recommended by All Lift Cranes. Alternate foundations are to be deter-
mined by a structural engineer.

3. Pour the footing, according to the foundation requirements, with anchor bolts (T-bolts)
in place. There should be between 4” to 5” exposed anchor thread above the floor level to
allow for one washer and two nuts. Jib crane foundation requirements are based on a

soil pressure 2500 lbs. per square foot. %” rebar is located 6” from top and bottom of
foundation on 12” centers. Concrete recommended for the foundation is 3000 Ibs. per
square inch of compressive force. Concrete must cure for 7 days prior to installation.
Minimum five bag mix is required.

4. After concrete has cured, make sure surface is level prior to mounting the column.
Machinery grout and jam nuts may be used to level the surface. Mount the column to
the anchor bolts. Next, bolt the boom to the head section with the mounting hardware
provided and install upper roller bearing on column pivot pin and grease bearing prior to
install. Set the boom and head section on the column.

5. Install end stops on the boom.
6. Adjust the lower roller cage nuts for final leveling.

7. Small L series units are adjusted by shimming between the upper pipe plate and the
beam plate.

Effective 11/15

22



